Die 3er - Reihe Uben (Multiple-Choice)

Das kleine Einmaleins

18 3= ()12 21 () 2 () 30
2. 09«3 = () 3 (O 2 ()12 (O 6
309 3= () 27 () 3 () 30 () 2
4.5 3= (1) 9 15 6 ) 21
5 7 e3= () 15 ()30 ()21 () 9
b 4 3= () 12 () 22 () 3 () 18
77 e3 = () 20 ()21 () 18 () 30
Aufgabe 2

14 e3= ()21 () 9 ()15 () 12
210 «3= (0 9 o3 ) 24 () 30
305 3= () 12 O 9 O 1B (O 6
410 +3= () 12 () 30 () 27 () 21
5.3 3= () 6 (O 9 (O 15 () 30
b 4 3= () 6 () 15 () 12 () 2
76 3= () 21 () 9 () 27 () 18
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Die 3er - Reihe iben (Multiple-Choice) | ANTWORTEN

Das kleine Einmaleins

Aufgabe 1

1. 8+3= () 12 o2 030
2.9 +3= (O 3 @012 o6
39-3=‘EQ3 ) 30 () 24
4 5 «3 = () 9 Egb 21
5 7 e3- () 15 () 30 @09
64-3=|E027 O3 ) 18
7«3 = (0O 27 @018 () 30

Aufgabe 2

1. 4 «3= () 2 9 ) 15 @ 12
2210 «3= () 9 o3 ) 24 @ 30
3 5.3=O12 O 9 EO 6
4. 10 ¢« 3= () 12 ¢ 30 ) 27 2
5. 3 «3= () 6 ® 7 ) 15 () 30
6. 4 «3= () 6 15 El@%
s e3=- O 20 O 9 (O 27
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